Appendix A

Reliability: Intraclass Correlation Coefficients for Intra-rater, Inter-rater,
Test Retest 1-hour, and Test Retest 1-week Scores

Intra-rater Reliability ICC (2,1) 95% CI p-value
Session 1, Trials 1 and 2

Rater A 1.00 1.00 - 1.00 <0.001
Rater B 1.00 1.00 - 1.00 <0.001
Rater C 1.00 1.00-1.00 <0.001
Session 2, Trials 1 and 2

Rater A 1.00 1.00 - 1.00 <0.001
Rater B 1.00 1.00 - 1.00 <0.001
Rater C 1.00 1.00-1.00 <0.001
Session 3, Trials 1 and 2

Rater A 0.99 0.98 - 1.00 <0.001
Inter-rater Reliability ICC (2,1) 95% CI p-value
Session 1, Trial 1

Raters A and B 1.00 1.00 - 1.00 <0.001
Raters A and C 1.00 1.00 - 1.00 <0.001
Raters B and C 1.00 1.00 - 1.00 <0.001
Session 1, Trial 2

Raters A and B 1.00 1.00 - 1.00 <0.001
Raters Aand C 1.00 1.00 - 1.00 <0.001
Raters B and C 1.00 1.00 - 1.00 <0.001
Session 2, Trial 1

Raters A and B 1.00 1.00 - 1.00 <0.001
Raters Aand C 1.00 1.00 - 1.00 <0.001
Raters B and C 1.00 1.00 - 1.00 <0.001
Session 2, Trial 2

Raters A and B 1.00 1.00 - 1.00 <0.001
Raters Aand C 1.00 1.00 - 1.00 <0.001
Raters B and C 1.00 1.00 - 1.00 <0.001
1-hour Test Retest Reliability ICC (2,2) 95% CI p-value
Sessions 1 and 2 (n=22)

Rater A 0.99 0.97 - 0.99 <0.001
Rater B 0.99 0.97 - 0.99 <0.001
Rater C 0.99 0.97 - 1.00 <0.001
1-week Test Retest Reliability ICC (2,2) 95% CI p-value
Sessions 1 and 3 (n=21)

Rater A 0.99 0.99 -1.00 <0.001

ICC (2,1) = SPSS, Model 2, repeated measures ANOVA, single measures
ICC (2,2) = SPSS, Model 2, repeated measures ANOVA, average measures, two trials per session




1-hour Difference (seconds)

Appendix B
Box plot analysis with interquartile range and outliers for 1-hour and 1 week
difference in clonus duration
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Appendix C

Test-retest reliability of drop test 10-sec oscillations (n =22; ICC 2, 1)

TRIAL 1 2 3 4 5
1 NA 0.98 0.90 0.90 0.79
0.97-0.99 0.76-0.96 0.76-9.96 0.52-0.91
2 0.98 NA 0.96 0.99 0.85
0.97-0.99 0.91-0.98 0.99-1.00 0.65-0.94
3 0.90 0.96 NA 0.97 0.87
0.76-0.96  0.91-0.98 0.91-0.98 0.70-0.94
4 0.90 0.99 0.97 NA 0.88
0.76-0.96  0.99-1.00 0.91-0.98 0.72-0.95
5 0.79 0.85 0.87 0.88 NA
0.52-091  0.65-0.94 0.70-0.94 0.72-0.95

ICC (2, 1) = SPSS, Model 2, repeated measures ANOVA, single measures; NA = not applicable; top bolded
number = ICC (2, 1); bottom number = 95% Confidence Interval; all p-values < 0.001




